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Python 3.4.0 (default, Jun 19 2015, 14:20:21)
[GCC 4.8.2] on linux

Type "help", "copyright", "credits" or "license" for more information.
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>>> print('Hello, World!')
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Hello, World!
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>>> print 'Hello, World!'
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1.4 Arithmetic operators
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>>> 40 + 2

42

>>> 43 - 1

42

>>> 6 x 7

42
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>>> 84 / 2

42.0
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>>> 6%*%2 + 6

42
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>>> 6 ~ 2

4

o] M)A HET AASo] thAAL hEA A, U @ Ak http://wiki.
python.org/moin/BitwiseOperatorso A 12 4 Ut}

1.5 &% 3

Svalue) T2 Txl0] chit Fajo s2jot 22 |RHQ A F shole. 27 2 A
Zo]|=2,42.0 18] 11 'Hello, World!'7} Qith.
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>>> type(2)

<class 'int'>

>>> type(42.0)

<class 'float'>

>>> type('Hello, World!')
<class 'str'>
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>>> type('2')

<class 'str'>

>>> type('42.0')

<class 'str'>
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